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Word Problems: Decimals
Solve the problems

Madison owes the cashier $5.80. She
gives her $8. How much does the cashier
give her back?

Emma buys a length of ribbon 16.8 yards
long. She cuts it in 8 equal lengths. How
much does each length of ribbon
measure?

Julia bought a sandwich for $3.40 and a
dessert for $1.20. How much did she pay
for her meal?
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Julia bought a sandwich for $3.20 and a
dessert for $3.40. How much did she pay
for her meal?

Madison owes the cashier $14.10. She
gives her $17. How much does the
cashier give her back?

Emma buys a length of ribbon 15.3 yards
long. She cuts it in 3 equal lengths. How
much does each length of ribbon
measure?



